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Yarn: Karamell from Falkgarn
Materials: ap. 1/2 ball in the color Lime
Hook: 5 mm

Abbreviations:

sl st — slip stitch

ch —chain

sc — single crochet

hdc — half double crochet

bl — back loop (crochet in back loop only)

Measurments

Height: 30 cm/11,8 in

Width: 25 cm/9,8 in

Height before decreasing: 23 cm/9 in
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Start with the ribbing

Crochet the ribbing back and forth by turning after the last sc on every row.

Row 1: ch 6, 1 scin the second ch from the hook and in the rest of the chains (5 sc)

Row 2: ch 1, 1 sc in back loops only throughout the row (5 sc)

Keep crocheting like row 2 until you reach the length you want and for the ribbing to reach around the
head. | crocheted 68 rows (52 cm or 20,5 inch). Join both ends and the ribbing should look like a ring.
DO NOT CUT THE YARN!
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The beanie

Keep the beanies outside towards you while crocheting the beanie. Start crocheting from where you left
off with the joining.

Round 1: ch 2, 1 hdc in each row of the ribbing. Join the round with a sl st in the 2" ch in the beginning
of the round.

Round 2: ch 2, 1 hdc in each hdc from the round before. Join the round with a sl st in the 2™ ch in the
beginning of the round.

Keep crocheting like round 2 until you reach the height you want. | crocheted 23 rounds (23 cm or 9
inch, ribbing included).

Time to start decreasing

Try to decrease the first round so you’ll get a stitch count that can be divided with the number 6. My
beanie had 68 stitches which meant that | had to decrease 8 times to reach 60 stitches. Try to arrange
the decreasing evenly as you can.

Decrease by crocheting 2 hdc together.
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Decreasing round by round:

60 stitches: ch 2, 7 hdc, 2 hdc together, *8 hdc, 2 hdc together * the rest of the round (54 stitches)
54 stitches: ch 2, 6 hdc, 2 hdc together, *7 hdc, 2 hdc together * the rest of the round (48 stitches)
48 stitches: ch 2, 5 hdc, 2 hdc together, *6 hdc,2 hdc together * the rest of the round (42 stitches)
42 stitches: ch 2, 4 hdc, 2 hdc together, *5 hsc,, 2 hdc together * the rest of the round (36 stitches)
36 stitches: ch 2, 3 hdc, 2 hdc together, *4 hdc, 2 hdc together * the rest of the round (30 stitches)
30 stitches: ch 2, 2 hdc, 2 hdc together, *3 hdc, 2 hdc together * the rest of the round (24 stitches)
24 stitches: ch 2, 1 hdc, 2 hdc together, *2 hdc, 2 hdc together * the rest of the round (18 stitches)
18 stitches: ch 2, 2 hdc together, *1 hdc, 2 hdc together * the rest of the round (12 stitches)

12 stitches: ch 2 together with 1 hdc, *2 hdc together* the rest of the round (6 stitches)

Join each round with a sl st in the 2" ch in the beginning of the round.

Weave in your ends and you have a new beanie.

Good work! If you publish your work on social media please tag me @LVAcrochet or use the
hashtag #lvacrochet so | can find it easier.
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